Subject: [FIXED] Re: DPM
Posted by Simon Reiter on Thu, 04 Jul 2013 11:27:42 GMT

View Forum Message <> Reply to Message

The Tree is stored. | could fix this problem with changing the request of the GetMcMotherldx. |
forgot that DPM does not start its decay with the pbarp. So the McMotherldx is set to -1 and
there is not candidate in the MCTruth list at position -1. Now | request additionally that
GetMcMotherldx()<O.

int motherld = mctrk[ TCandidate.GetMcldx() ].GetMcMotherldx();

if(motherld<0 || mctrk[ motherld ].PdgCode()==88888) {...}

Sorry for interruption
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